# The Smarandache Perfect Numbers 

Maohua Le<br>Department of Mathematics, Zhanjiang Normal College<br>Zhanjiang, Guangdong, P.R.China

Abstract In this paper we prove that 12 is the only Smarandache perfect number.

Keywords Smarandache function, Smarandache perfect number, divisor function.

## §1. Introduction and result

Let $N$ be the set of all positive integer. For any positive integer $a$, let $S(a)$ denote the Smarandache function of $a$. Let $n$ be a postivie integer. If $n$ satisfy

$$
\begin{equation*}
\sum_{d \mid n} S(d)=n+1+S(n) \tag{1}
\end{equation*}
$$

then $n$ is called a Smarandache perfect number. Recently, Ashbacher [1] showed that if $n \leq 10^{6}$, then 12 is the only Smarandache perfect number. In this paper we completely determine all Smarandache perfect number as follows:

Theorem. 12 is the only Smarandache perfect number.

## §2. Proof of the theorem

The proof of our theorem depends on the following lemmas.
Lemma 1 ([2]). For any positive integer $n$ with $n>1$, if

$$
\begin{equation*}
n=p_{1}^{r_{1}} p_{2}^{r_{2}} \cdots p_{k}^{r_{k}} \tag{2}
\end{equation*}
$$

is the factorization of $n$, then we have

$$
S(n)=\max \left(S\left(p_{1}^{r_{1}}\right), S\left(p_{2}^{r_{2}}\right), \cdots, S\left(p_{k}^{r_{k}}\right)\right) .
$$

Lemma 2 ([2]). For any prime $p$ and any positive integer $r$, we have $S\left(p^{r}\right) \leq p r$.
Lemma 3 ([3], Theorem 274). Let $d(n)$ denote the divisor function of $n$. Then $d(n)$ is a multiplicative function. Namely, if (2) is the factorization of $n$, then

$$
d(n)=\left(r_{1}+1\right)\left(r_{2}+1\right) \cdots\left(r_{k}+1\right)
$$

Lemma 4. The inequality

$$
\begin{equation*}
\frac{n}{d(n)}<2, n \in N \tag{3}
\end{equation*}
$$

[^0]has only the solutions $n=1,2,3,4$ and 6 .
Proof. For any positive integer $n$, let
$$
f(n)=\frac{n}{d(n)}
$$

Since $f(1)=1, f(2)=1, f(3)=3 / 2, f(4)=4 / 3$, and $f(6)=3 / 2,(3)$ has solutions $n=1,2,3,4$ and 6 .

Let $n$ be a solution of (3) with $n \neq 1,2,3,4$ or 6 . Since $f(5)=\frac{5}{2}>2$, we have $n>6$. Let (2) be the factorization of $n$. If $k=1$ and $r_{1}=1$, then $n=p_{1} \geq 7$ and $2>f(n)=\frac{p_{1}}{2} \geq \frac{7}{2}$, a contradiction. If $k=1$ and $r_{1}=2$, then $n=p_{1}^{2}$, where $p_{1} \geq 3$. So we have $2>f(n)=\frac{p_{1}^{r_{1}}}{\left(r_{1}+1\right)} \geq$ $\frac{2^{3}}{4} \geq 2$, a contradiction. If $k=2$, since $n>6$, then we get

$$
2>f(n)=\frac{p_{1}^{r_{1}}}{r_{1}+1} \cdot \frac{p_{2}^{r_{2}}}{r_{2}+1} \geq \begin{cases}\frac{5}{2} & \text { if } p_{1}=2 \text { and } r_{1}=1 \\ 2 & \text { if } p_{1}=2 \text { and } r_{1}>1 \\ \frac{15}{4} & \text { if } p_{1}>2\end{cases}
$$

a contradiction. If $k \geq 3$, then

$$
2>f(n)=\frac{p_{1}^{r_{1}}}{\left(r_{1}+1\right)} \frac{p_{2}^{r_{2}}}{\left(r_{2}+1\right)} \frac{p_{3}^{r_{3}}}{\left(r_{3}+1\right)} \geq \frac{15}{4}
$$

a contradiction. To sum up, (3) has no solution $n$ with $n \neq 1,2,3,4$ or 6 . The Lemma is proved.
Proof of Theorem. Let $n$ be a Smarandache perfect number with $n \neq 12$. By [1] we have $n>10^{6}$. By Lemma 1, if (2) is the factorization of $n$, Then

$$
\begin{equation*}
S(n)=S\left(p^{r}\right) \tag{4}
\end{equation*}
$$

where

$$
\begin{equation*}
p=p_{j}, \quad r=r_{j}, \quad 1 \leq j \leq k . \tag{5}
\end{equation*}
$$

From (2) and (5), we get

$$
\begin{equation*}
n=p^{r} m, \quad m \in N, \quad \operatorname{gcd}\left(p^{r}, m\right)=1 \tag{6}
\end{equation*}
$$

For any positive integer $n$, let

$$
\begin{equation*}
g(n)=\sum_{d \mid n} S(d) \tag{7}
\end{equation*}
$$

Then, by (1), the Smarandache perfect number $n$ satisfies

$$
\begin{equation*}
g(n)=n+1+S(n) \tag{8}
\end{equation*}
$$

We see from (4) that $n \mid S\left(p^{r}\right)$ !. Therefore, for any divisor $d$ of $n$, we have

$$
\begin{equation*}
S(d) \leq S\left(p^{r}\right) \tag{9}
\end{equation*}
$$

Thus, if (8) holds, then from (7) and (9) we obtain

$$
\begin{equation*}
d(n) S\left(p^{r}\right)>n . \tag{10}
\end{equation*}
$$

where $d(n)$ is the divisor function of $n$. Further, by Lemma 3, we get from (4), (6) and (10) that

$$
\begin{equation*}
\frac{(r+1) S\left(p^{r}\right)}{p^{r}}>f(m) \tag{11}
\end{equation*}
$$

If $r=1$, since $S(p)=p$, then from (11) we get $2>f(m)$. Hence, by Lemma 4 , we obtain $m=1,2,3,4$ or 6 . When $m=1$, we get from (8) that

$$
g(n)=g(p)=S(1)+S(p)=1+p=p+1+S(p)=1+2 p
$$

a contradiction. When $m=2$, we have $p>2$ and

$$
\begin{equation*}
g(n)=g(p)=S(1)+S(2)+S(p)+S(2 p)=3+2 p=3 p+1 \tag{12}
\end{equation*}
$$

whence we get $p=2$, a contradiction. By the same method, we can prove that if $r=1$ and $m=3,4$ or 6 , then ( 8 ) is false.

If $r=2$, since $S\left(p^{2}\right)=2 p$, then from (11) we get

$$
\begin{equation*}
\frac{6}{p}>f(m) \tag{13}
\end{equation*}
$$

Since $n>10^{6}$, by (4) we have $S\left(p^{2}\right)=S(n) \geq 10$ it implies that $p \geq 5$. Hence, by (13) we get $f(m)<\frac{6}{5}$. Further, by Lemma 4 we get $m \leq 6$. Since $n=p^{2} m \leq 6 p^{2}$, we obtain $p \geq 7$. Therefore, by (13) it is impossible. By the same method, we can prove that if $r=3,4,5$ or 6 , then (11) is false.

If $r \geq 7$, then we have $S\left(p^{r}\right) \leq p r$ and

$$
\begin{equation*}
\frac{(r+1) r}{p^{r-1}}>\frac{(r+1) S\left(p^{r}\right)}{p^{r}}>f(m) \geq 1 \tag{14}
\end{equation*}
$$

by (11). From (14), we get

$$
\begin{equation*}
\left.(r+1) r>p^{r-1} \geq 2^{r-1} \geq 2\binom{r-1}{0}+\binom{r-1}{1}+\binom{r-1}{2}+\binom{r-1}{3}\right) \tag{15}
\end{equation*}
$$

whence we obtain

$$
\begin{equation*}
0>r^{2}-6 r+5=(r-1)(r-5)>0 \tag{16}
\end{equation*}
$$

a contradiction. To sum up, there has no Smarandache perfect number $n$ with $n>10^{6}$. Thus, the theorem is proved.

## References

[1] C.Ashbacher, On numbers that are pseudo-Smarandache and Smarandache perfect, Smarandache Notions J, 15(2004), 40-42.
[2] M.Farris, P.Mitchell, Bounding the Smarandache function, Smarandache Notions J, 13(2002), 37-42.
[3] G H.Hardy, E M.Wright, An introduction to the theory of numbers, Oxford Univ Press, Oxford, 1981.

Scientia Magna

Vol. 2 (2006), No. 2, 27-30

# On the solutions of an equation involving the Smarandache dual function 

Na Yuan<br>Department of Mathematics, Northwest University<br>Xi'an, Shaanxi, P.R.China


#### Abstract

In this paper, we use the elementary method to study the solutions of an equation involving the Smarandache dual function $\bar{s}_{k}(n)$, and give its all solutions.


Keywords Smarandache dual function, the positive integer solutions.

## §1. Introduction

For any positive integer $n$, the famous Smarandache function $S(n)$ is defined by

$$
S(n)=\max \{m: n \mid m!\}
$$

For example, $S(1)=1, S(2)=2, S(3)=3, S(4)=4, S(5)=5, S(6)=3, S(7)=7, S(8)=4$, $\cdots$. About the arithmetical properties of $S(n)$, many scholars have show their interest on it, see [1], [2] and [3]. For example, Farris Mark and Mitchell Patrick [2] studied the bounding of Smarandache function, and they gave an upper and lower bound for $S\left(p^{\alpha}\right)$, i.e.

$$
(p-1) \alpha+1 \leq S\left(p^{\alpha}\right) \leq(p-1)\left[\alpha+1+\log _{p} \alpha\right]+1 .
$$

Wang Yongxing [3] studied the mean value of $\sum_{n \leq x} S(n)$ and obtained an asymptotic formula by using the elementary methods. He proved that

$$
\sum_{n \leq x} S(n)=\frac{\pi^{2}}{12} \frac{x^{2}}{\ln x}+O\left(\frac{x^{2}}{\ln ^{2} x}\right)
$$

Similarly, many scholars studied another function which have close relations with the Smarandache function. It is called the Smarandache dual function $S^{*}(n)$ which defined by

$$
S^{*}(n)=\max \{m: m!\mid n\} .
$$

About this function, J. Sandor in [4] conjectured that

$$
S^{*}((2 k-1)!(2 k+1)!)=q-1
$$

where $k$ is a positive integer, $q$ is the first prime following $2 k+1$. This conjecture was proved by Le Maohua [5].

Li Jie [6] studied the mean value property of $\sum_{n \leq x} S^{*}(n)$ by using the elementary methods, and obtained an interesting asymptotic formula:

$$
\sum_{n \leq x} S^{*}(n)=e x+O\left(\ln ^{2} x(\ln \ln x)^{2}\right)
$$

In this paper, we introduce another Smarandache dual function $\bar{s}_{k}(n)$ which denotes the greatest positive integer $m$ such that $m^{k} \mid n$, where $n$ denotes any positive integer. That is,

$$
\bar{s}_{k}(n)=\max \left\{m: m^{k} \mid n\right\}
$$

On the other hand, we let $\Omega(n)$ denotes the number of the prime divisors of $n$, including multiple numbers. If $n=p_{1}^{\alpha_{1}} p_{2}^{\alpha_{2}} \cdots p_{r}^{\alpha_{r}}$ denotes the factorization of $n$ into prime powers, then

$$
\Omega(n)=\alpha_{1}+\alpha_{2} \cdots+\alpha_{r} .
$$

In this paper, we shall study the positive integer solutions of the equation

$$
\bar{s}_{3}(1)+\bar{s}_{3}(2)+\cdots+\bar{s}_{3}(n)=3 \Omega(n),
$$

and give its all solutions. That is, we shall prove the following conclusions:
Theorem. For all positive integer $n$, the equation

$$
\bar{s}_{3}(1)+\bar{s}_{3}(2)+\cdots+\bar{s}_{3}(n)=3 \Omega(n)
$$

has only three solutions. They are $n=3,6,8$.
For general positive integer $k>3$, whether there exists finite solutions for the equation

$$
\bar{s}_{k}(1)+\bar{s}_{k}(2)+\cdots+\bar{s}_{k}(n)=k \Omega(n) .
$$

It is an unsolved problem. We believe that it is true.

## §2. Proof of the theorem

In this section, we will complete the proof of Theorem. First we will separate all positive integer into two cases.

1 . If $n \leq 8$, then from the definition of $\bar{s}_{k}(n)$ and $\Omega(n)$, we have

$$
\begin{array}{clll}
\bar{s}_{3}(1)=1, & \bar{s}_{3}(2)=1, & \bar{s}_{3}(3)=1, & \bar{s}_{3}(4)=1, \\
\bar{s}_{3}(5)=1, & \bar{s}_{3}(6)=1, & \bar{s}_{3}(7)=1, & \bar{s}_{3}(8)=2 . \\
\Omega(1)=0, & \Omega(2)=1, & \Omega(3)=1, & \Omega(4)=2, \\
\Omega(5)=1, & \Omega(6)=2, & \Omega(7)=1, & \Omega(8)=3 .
\end{array}
$$

So that we have

$$
\bar{s}_{3}(1)+\bar{s}_{3}(2)+\bar{s}_{3}(3)=3 \Omega(3) ;
$$

$$
\begin{aligned}
& \bar{s}_{3}(1)+\bar{s}_{3}(2)+\cdots+\bar{s}_{3}(6)=3 \Omega(6) ; \\
& \bar{s}_{3}(1)+\bar{s}_{3}(2)+\cdots+\bar{s}_{3}(8)=3 \Omega(8) .
\end{aligned}
$$

Hence $n=3,6,8$ are the positive integer solutions of the equation.
2. If $n>8$, then we have the following:

Lemma. For all positive integer $n>8$, we have

$$
\bar{s}_{3}(1)+\bar{s}_{3}(2)+\cdots+\bar{s}_{3}(n)>3 \Omega(n) .
$$

Proof. Let $n=p_{1}^{\alpha_{1}} p_{2}^{\alpha_{2}} \cdots p_{r}^{\alpha_{r}}$ is the factorization of $n$ into prime powers, then we have

$$
\bar{s}_{3}(1)+\bar{s}_{3}(2)+\cdots+\bar{s}_{3}(n)>n \quad \text { if } \quad n>8 .
$$

From the definition of $\Omega(n)$, we have

$$
\Omega(n)=\alpha_{1}+\alpha_{2} \cdots+\alpha_{r} .
$$

So to complete the proof of the lemma, we only prove the following inequality:

$$
\begin{equation*}
p_{1}^{\alpha_{1}} p_{2}^{\alpha_{2}} \cdots p_{r}^{\alpha_{r}}>3\left(\alpha_{1}+\alpha_{2} \cdots+\alpha_{r}\right) \tag{1}
\end{equation*}
$$

Now we prove (1) by mathematical induction on $r$.
i) If $r=1$, then $n=p_{1}^{\alpha_{1}}$.
a. If $p_{1}=2$, then we have $\alpha_{1} \geq 4$, hence

$$
2^{4}>3 \cdot 4, \quad 2^{\alpha_{1}}>3 \alpha_{1} .
$$

b. If $p_{1}=3,5$ and 7 , then we have $\alpha_{1} \geq 2$, hance

$$
i^{4}>3 \cdot 2, \quad i^{\alpha_{1}}>3 \alpha_{1}, \quad i=3,5,7
$$

c. If $p_{1} \geq 11$, then we have $\alpha_{1} \geq 1$, hence

$$
p_{1}^{\alpha_{1}}>3 \alpha_{1}
$$

This proved that Lemma holds for $r=1$.
ii) Now we assume (1) holds for $r(\geq 2)$, and prove that it is also holds for $r+1$.

From the inductive hypothesis, we have

$$
p_{1}^{\alpha_{1}} p_{2}^{\alpha_{2}} \cdots p_{r}^{\alpha_{r}} p_{r+1}^{\alpha_{r+1}}>3\left(\alpha_{1}+\alpha_{2} \cdots+\alpha_{r}\right) \cdot p_{r+1}^{\alpha_{r+1}} .
$$

Since $p_{r+1}$ is a prime, then

$$
p_{r+1}^{\alpha_{r+1}}>\alpha_{r+1}+1
$$

From above we obtain

$$
p_{1}^{\alpha_{1}} p_{2}^{\alpha_{2}} \cdots p_{r}^{\alpha_{r}} p_{r+1}^{\alpha_{r+1}}>3\left(\alpha_{1}+\alpha_{2} \cdots+\alpha_{r}\right) \cdot\left(\alpha_{r+1}+1\right) .
$$

Note that if $a>1, b>1$, then $a \cdot b \geq a+b$, so we have

$$
\left(\alpha_{1}+\alpha_{2} \cdots+\alpha_{r}\right) \cdot\left(\alpha_{r+1}+1\right) \geq \alpha_{1}+\alpha_{2} \cdots+\alpha_{r}+\alpha_{r+1}+1>\alpha_{1}+\alpha_{2} \cdots+\alpha_{r}+\alpha_{r+1}
$$

So

$$
p_{1}^{\alpha_{1}} p_{2}^{\alpha_{2}} \cdots p_{r}^{\alpha_{r}} p_{r+1}^{\alpha_{r+1}}>3\left(\alpha_{1}+\alpha_{2} \cdots+\alpha_{r}+\alpha_{r+1}\right)
$$

This completes the proof of the lemma.
Now we complete the proof of Theorem. From the lemma we know that the equation has no positive solutions if $n>8$. In other words, the equation

$$
\bar{s}_{3}(1)+\bar{s}_{3}(2)+\cdots+\bar{s}_{3}(n)=3 \Omega(n)
$$

has only three solutions. They are $n=3,6,8$.
This completes the proof of Theorem.

## References

[1] F. Smarandache, Only problems, not Solutions, Xiquan Publ. House, Chicago, 1993, 23.
[2] Farris Mark and Mitchell Patrick, Bounding the Smarandache function, Smarandache Notions Journal, 13(2002), 37-42.
[3] Wang Yongxing, On the Smarandache function, Smarandache problems in number theory (Vol.II), Hexis, 2005, 103-106.
[4] J.Sandor, On certain generalizations of the Smarandache function, Smarandache Notions Journal, 11(2000), 202-212.
[5] Maohua Le, A conjecture concerning the Smarandache dual function, Smarandache Notions Journal, 14(2004), 153-155.
[6] Li Jie, On Smarandache dual function, Scientia Magna, 2(2006), No.1, 111-113.


[^0]:    ${ }_{1}$ This work is supported by the National Natural Science Foundation of China(No.10271104) and the Guangdong Provincial Natural Science Foundation(No.04011425).

